2007 #3(24 ) 2007. 5. 22.
1.[6 1] f(t) Laplace F(s) 1.[6 1] f(t)) Laplace F(s)
(@) f(t) = sinh2t (@ f(t) = cosh3t
(b) f(t) = cos(2t—6) (t =3) (b) f(t) = sin(2t—38) (t =4
_ ! _ 37 — ! _ —27
(c) f(t) /0 (t—7)e* dr (c) f(t) fo (t—7)e *"dr
2.[4 ] Laplace 2[4 ] Laplace
_s—3 _ 5= 2
(@) Fls)= e (a) F(s) o
(b) Gls)= () Gls)= &
3[4 ] 3.[4 ]
(@ X(s) (@) X(s)
_ —6 B —4s5—5
X6) = 6 D X6 = o6+
(b) Y(s) Laplace | (b) Y(s) Laplace
y(t) y(t)

2 3 1 2 _ 3 2 14
M) =73 (s+2)* (s+2)? (s+2) M) =555 (s+3)?°  (s+3)? (s+3)
46 ] z(t) Laplace 4.[6 1] z(t) Laplace

" +3z -42=0 z(0) =-1, z(0) =2 ' -22 -3 2=0, z(00) =2, 2°(0) =-1
5.[4 1] Bessel
%[my%()\x)} — A2 d () 5.[4 ] Bessel
J %{x”Jy(Am)] = A2 J,_,(\z)
E[xfytfl,()\x)} = -z "J,., ()
d di{x_y‘]u(/\w)] - _)\x_y‘]zz+1(>\x)
22 (@) = J, (@) = T, (@) xd
p , 2— @) = J, (@) = J (@)
L 17,00)] = A,y 0) = L, () ‘
d , [L0@)] = AJ, () = 27, ()
%[Jy()\x)] = —\J, ., (\z)+ ;Jy()\w) p
@ (L 0a)] = = A () + %Jy()\x)
%[Jz(ﬁlx)}— @ .
(b) E[JB(ZI)] -
()




2007 (20 ) 2007. 6. 12.
1.[4 1] [-1, 1] 1[4 1] [-1, 1]
fl@) =52°— 3z, g¢glz) =22z fl@) =1—32% g) =2z
(@) (a)
(b) f(z) (norm) (b) fx) (norm)
2.2 ] (self-adjoint) 22 1 (self-adjoint)
vy’ +(-z)y+2y=0 zy' —22°y +2zy=0
3.6 1 [-7, =1 (periodic) | 3.[6 ] [-7, =1 (periodic)
Sturm-Liouville Sturm-Liouville
y' +Ay=0 4 , A=0) y' + Ay=0 (A , A=0)
y(=m) = ylr), y'(=n) =y (x) y(=mn) = ylr), y'(=n) =y (x)
@ : (@)
(b) Yo = 1, y, = cosnz (b) Yo = 1, y, = cosnx
sinnz (n = 1, 2, ..) sinnz (n = 1, 2, ..)
_DO <f,y”> _OO <f?yn>
f(x) _n:() < Yn> Yn > Yn f(l) _n;(] < Yno Yn > U
Fourier Fourier
flz) = %+7Iil(ancos%x+ bnsin%x flz) = —|—n§]1 a, cos—x+b smn;x
a, = éf_LLf(JJ)COSTZrl‘ dx a, = %/ﬁg‘(m)cos%x dx
b, = %/LLf(JJ)SiHn%x dz b, = }//fo(x)sinngx dz
4.4 1] 27 f(z) [-7, | 4[4 ] 27 fx) [-m
Fourier Fourier
g, Gy, Gy, by, by, by : ag, @y, @y, by, by, b3 .
flz) = -4 (-7w<z<0), fl@) =0 (0<z<m) flx) =0 (-mw<z<0), flz) =4 (0<z<n)
5[4 1 4 flx) [0, 41 | 5.[4 1] 4 f(z) [0, 4]
Fourier - ( 4 Fourier - ( 4
) )
flz) = 22 (0<z<2), flz) =0 (2<z<4)




#3

. 2
1. (@) F(s) = S
(b) F(s) = e ® - Sfj
. 1
(© Fs) = s*(s—3)

2. (a) f(t) = cos2t— %sith

(b) g(t) = H(t—2)

-3 __1 __2
3. (@) X(s) = S s—2 s+1
@)mwzzéuw%ﬂ F2)e
_ 24 3 —u
4. z(t) = 56 56

5. () 4.7, (42) — = J,(42)

—4.J;(4x) + %JQ(M)
2J, (4z) — 2 J;(4z)

(0) ~25(2) ~ 205(2) ~ 24 (2) + [ y(a)de

#3

1. (a) F(s) = SQig
s 2
(b) F(s) =e * - e
. 1

(©) £ls) = s?(s+2)
2. (@) f(t) = cos4t — %sinélt

(b) g(t) = H(t—3)
3. (@ X(s)= 2+ -2 411

2 s s—1 2 s+2
() y(t) = 3e” + (=" +t—4)e ¥

4. x(t) = %eit + %e%

5. () 2.J,(20) — >, (22)

—2J,(22) + %Jg(?x)
S (2z) — J,(2z)

(0) —2(0) = 25(0) =2, (@) + f ()i

- (@)

- /8
) If1 = />

ety ) +2eTy=0
3. (@) 0, 1, 4, 9,

1, cosxz, sinz, cos2x, sin2x, ...

(b) f(z) = ay+ i (a, cosnx + b, sinnz)

n=1

ap = %/jﬂf(x)dx

a, = L/ f(z)cosnz dx
u -
1 [ .
b, = ?/ flz)sinne dx
a/o = _4 ( _2), al = 0, a2 = 0,
=38 - -8
bl—ﬂ_, b, = 0, b3_37r
o8 T AT 2
.f(x)—l 7T2coszx+ 7Tsm2av 71_51n7r:13
+ ...
CY

®) Ifl = \/g

. (eiljzy')'-i- 2€7w2y =0
. (a) o, 1, 4, 9,

1, cosz, sinz, cos2x, sin2x, ...

() f(z) = ay+ i (a, cosnx + b, sinnz)

n=1

ag = %f:rﬂf(x)dm

a, = l/. f(z)cosnz dx
7T - T

b, = %/ flz)sinnz dx

ag = 4 ( 2), a; =0, ay, =0,
8 - - 8
bl—?, b, =0, by = i
5. f(z) = %— %cos%er lsin%x— QLsmmc
s
+



